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CC-304 : Sanskrit
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YA WAL LAl Us sH1s % GraRaAd]HL vil.

Instruction : Write the same question number in answer-book as mentioned in the

question paper.

1. (A) A aevigiHidl oM d 2istl HidHIMIHL 2dle 520 ¢ 5

Translate any one passage from following in your mother language :
UHST fovanis: AW g SREEmET: | g YRR — T IS SR YR
TR T fggad | OREgER! g T SeSElah JEE: STsd: Ay
foeTeEad: 9 | ST SRIT IRR T WE Uug @R | ST STERd - ]
;| TIFRIOTHGRIOT f=TeT: 2 o1 o |
AUA/OR

YRIIST ARASTN I THTeT ol SIS SHied o HelqeuT: Saquat-d W | Sa<:
TSha™: | TSR et STy T ST | IRTaehle! JereTgahid o 9 | Fe
T YoRISHied TIUHRUTY T8 SHe: AaHeiiq (] MqRes! a& IRed | T
FFET @A TRT: ORI 18T TRlcamad § = 1|

(B) ~llaAL olerviga AR UaAlAL AgAML Gl Ul 5
Give the answers in Sanskrit from following passage :
e HIATERRIRH eRemr A9 SR | 9% 9 HY FHod: Gad ket Hrersfaadd |
HHASIT T TEVT SUHCEEH  TA: @R JeTesEEl RS gl
FoHHUR TN Fechergard HIovi qoferi grear faaamad - e eesadr 741
FHETERY T YISt oHE BT Hid fawefatd ||
(1) EREr F 37w 2
(2) TREAH A ohed HHRUT e T 2
(3) BNEW: T T
(4) @i 6 g 2
(5) @REd: eI i e 2
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2. (A

(B)

NE-112

slduel s sl vUdle 52 ¢

Translate any one verse from the following :

(1) et IRIT fonga A Imee: |
e wffed! gog; e gHams: ||

(2) AT I AT SR} A7 St 7 wiied: |
T I AT §QHE ! FT | |

Al2AL dLervigHl Al vdle S ¢

Translate the given passage into Sanskrit :

areRlMl sYues uHHl dlofl ddl Sdl. d 2saR oUsMsidl Ydl &dl. d
Quid 215 AR drll 8UL UAWL AU dril AieUML 983l A 4dRL Glsl dl.
Uid Al ARl AR AL 9di usl el Al AL d-l s&l, <& greolfa d

N

uidl 9. HasellAl A ugL @l s1d-l Gua s 9 27

AUA/OR
Agc AlSA (s Gad AUSA 9. dui del 24 GulHdel 9. deldl ucd, 93
i 2L Aldl 9. GUHMEIHL 9> Rrel Adlel 9. AHIURML el g2l
Ul 9. HelMRAHL clsaddl ald 9. Al 5L A YAl el dl
AUl UL €.

Al2AAL QsAlAL AL 2ale 52U (AIH d 2u8)

Translate the following sentences into Sanskrit : (Any eight)

(1) &% ¢ dedl ws 59 4.

(2) daRld AT MR WA 2udd €.

(3) AR Urdwd Ad .

(4)  H-l A HIML Vol A 9.

(5) & 2nadlsia siell oS

(6)  Asrll A2l dIRL YRl 2ALs1AML WA ©.

(7)  $™L 2 YelHl Y5l Wdl &dl.

(8) pul 2l AU © Al Ul 44 ©.

(9)  dlRyul el Ml wrel [@adld adl 19l

(10) 24l w12l Yo 2 9 Al edl vide W €.
2



3. (A) AL SR s AlsleRL WXL : (LA d A1) 4

Discuss the following verses with example : (any one)

(1) Tier FHE: |eUTg ST 3= |
FCATCIeRRA -3Te]oho o SroreT ||

(2) afcereTt Igae= a1 9 fafedfoRre |

dfeergt dgerer d faufefeaimorentya 1

(B) ‘cdcyad™ AHIA USIRL 2 Gelewl uldd AxAdl. 10
Explain types of the “dcqed: ¥HE:” with examples.
ALYWOR

SUYIRY AHIA USIRL 2 Agdeld AMAAlL.

Explain types of the ‘SHERA: TAM:” with examples.

4. (A) AL 9 @ael i Geleel Aled AHdl : (A d o) 8
Explain the metres with definition and examples : (any two)
(1) H=<ThI=T
(2) FEAIAH

(3) TIRH
(4)

B) AL gellsil el el AlaaRL vH0u 20Ul 2 I d L) 6
Explain in detail the metres given in following verses : (any one)
(1) A PIIURERESAT AT YA AT
T ATERIUSHUSARRT AT TGN |
T FETHAUGHT: WYfariea: T af-=ar
T A I LA Fadt .2 STeardaT ||
(2) GG T Hostel R
ACAINGET TR Tt |
ferafa afs Tiecn IRRT Fefehret
TR TG TOTHTHIYT 9 T 1 ||
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5. (A) AL wail G 4oy [Aseu wale s30 2l ¢
Answer the following with appropriate options :

(B)

NE-112

(1)

2

3)

4

(&)

FIRT a7 Al A1AL 2Aale Ll

(@ [ deq (b)  HldlUdid ded
() [udL we de-d (d) [Mamed deq
T Ay A 59 [AHBA Al © ?

(a) T TawieRT: (b) e ot
(c) T fomfer: (d) Gt forwferT:
RAH AHL NU 9. - AL ALsA A2 ARsd Ll
(a) T 3 TSt (b) T\ TF TS

(c) T I TSI (d) T\ T TSI
TE AU Al 5O [AeEad waleay © 2

(a) ! fowfe: (b) THT fafer:
(c) et fawfe: (d) e faufe:
THAMOT AOELHL AL AN €9 2

(a) HHYRY: TU: (b) gHife: T
(c)  3FFIE: TH: (d) e THE:

(6) B AUAHL W cUg ¢l © ?
(@) TSR (b) TR
(c) TsIRY (d) 3512
(7)) Rl o-edl dedl x1aR ey 9 2
(@)  AdR &R (b) ol AR
(c) g V&R (d) sdla 282
(8) UL 19eHl ol 9vel, (M.l gl 9 ?
(a) o B (b) Y& BT
(c) SUS: B=<: (d) W B
R
Match the following :
<) |
() =3"7 (a) dIBY: T
(2) s (b) I T=:
3 qgj o1y T (c) BHEL &
(4) T (d) T=HIE: THE:
(5) arHIE: (e) 5T TAN:

(6)

ey ) =g



